Question 1
Two parts: Explain the philosophical / theoretical difference between profit maximization versus corporate social responsibility as different approaches to running a corporation. Give three business examples of where the philosophy would conflict with each other.
The philosophical/theoretical approach in corporate social responsibility requires a‘welfare maximizing’ outcome where the collective standard of societal welfare is maximized to the highest possible extent.Furthermore, an ‘economically efficient’ outcome ensures thatresources are not misusedbut used to accomplish a greater extent of aggregate welfare.This requires corporations to engage in activities that safeguard the society’s welfare. On the other hand, the approach on profit maximization focuses on maximizing the resources for maximum profit. Friedman’s theory asserts that corporate executives have an obligation to maximize revenuesfor the investorssincethe investors ‘own’ the organizationand they delegatetheir power to executives. As such, the managers answer to the investors and not to the society as a whole.
Indeed, these approaches would conflict each other in business operations as in the examples below:
Example 1: A car-manufacturing firm makes vehicles that are cheap and affordable to most people. Massive sales are realizedand the objective of maximizing profits is realized. However, corporate social responsibility requires the car to have safety features and reduce environmental pollution, an aspect that would significantly reduce the profits but increase societal welfare.
Example 2: A soft drink company pays suitable salaries to its employees, engages in deliberate efforts for preventing misuse of the water resource through conservation. Nevertheless, the aspect of profit maximization is lost as a considerable proportion of its revenue goes to enhancing welfare in society.
Example 3: A company producing organic foods. The aim is to avail healthy food choices to members of the society. The products have a higher price, which is justified by the cost of production. As a result, market penetration becomes difficult as consumers prefer the cheaper foods. Thus, despite seeking to promote social welfare, the company suffers low profit returns. 
 
[bookmark: question_466036]Question 2
Gena leaves her Honda CRV (the same one she bought as part of this class's exercise, remember!) With Intown Motors for routine maintenance. On its return, the interior of the car is covered in motor grease and the exterior is scratched and dented. First, is Gena's CRV a chattel; what is a chattel? Second, under the law of bailments, who is responsible for this damage and why? What are the duties and responsibilities of bailors and bailees? Be specific.
A chattel refers to private property that is transferable. It includes movable machinery, vehicles, leasehold land and intellectual property rights among others. As such, Gena's CRV is a chattel. Under thelaw of bailments, Intown Motors is responsible for the damage as they were the bailee. As the bailee, they had a responsibility of safeguarding the car from any damages but failed to do so, thus implicating the cost of repairing the damages to them.
Notably, the bailee has a responsibility to guard against destruction of goods in their care. They also have a duty to ensure that such properties are not used for unauthorized purposes. On the other hand, the bailer has a duty to take the damaged goods back to the bailee. They also have a responsibility to claim compensation for the damages caused by the bailee.

Question 3
Explain the difference, in specific detail, between a limited liability company and a corporation? What are the benefits and drawbacks of each type of business entity form? Be specific. This question is worth 50 points.
	A limited liability company anda corporation have differences in management and taxation. The corporations have a management structure comprising of directors and other officers. The directors mastermind the key business decisions while the corporation officers run the day to day business operations. On the other hand, a limited liability company lacks such a structure. In its place, the owner(s), referred to as members, form the management. Every member has a vote regarding business decisions. They also have authority to make company decisions for day to day operations. However, approval must be sought from the other members before loans and contracts can be decided upon.
[bookmark: _GoBack]	The second difference is on taxation. For a limited liability company, taxes are paid at the members’ individual tax returns as opposed to taxation at the business level which is known as ‘pass-through taxation’. Reports on the company’s profits or losses are indicated at the members’ individual tax returns. Conversely, the corporations involve taxation at the entity level and at the individual level. At the entity level, the overall profits are taxed while at the individual level, the dividends paid to owners from the overall profits are taxed. Thus, a corporation has double taxation on profits.
	The benefits of a limited liability company is that business losses are reported on the members’ personal tax returns. This enables them to obtain n deductions on the tax accrued at personal level.Furthermore, a limited liability company is not required to pay franchise taxes. Restrictions on the number of members make the decision making process faster as voting is rapidly done.
As for the drawbacks the limited liability company, problems in issuing stocks feature prominently as it is only allowed for corporations. Similarly, they are not exempted from property taxes. They also suffer in terms of development if some members are dormant/quasi.
	Shifting focus to corporations, it is evident that they too have benefits and drawbacks. To begin with, corporations receive exemptions from property taxes across different states. Similarly, they easily offer stocks to stakeholders, which gives them numerous investors. Moreover, the structure of management ensures a thorough process before a major decision is made. On the other hand, corporations suffer from double taxes as aforementioned. They are also required to pay franchise taxes in different states. The management structure necessitates a lengthy process of decision making which is unfavorable.
Question 4
His five (5) hair cutters and stylists, Keegan, Thomas, Sarah, Lisa, and Janelle, all work at the hair styling shop. Hours of Keegan, Thomas, Sarah, Lisa, and Janelle work is set by Brad. Keegan, Thomas, Sarah, Lisa, and Janelle all have to buy their own tools for the job. The hair cutters and stylists can set their own prices but Brad want payment to him of at least $ 5.00 per hair cut but the Hair cutters and stylists can keep the rest. In order to avoid tax issues and other "legal" problems, Brad treats the hair cutters and stylists as independent contractors. You work for the IRS and questioned if Brad is correct. What are the criteria by which you can determine if Brad is correct. Is Brad correct or not. Justify your answer. This question is worth 50 points.
	According to IRS rules, independent contractors determine the method and ways through which contracted products, services, or outcomes are reached. In a workplace setting, if the management determines where, when, how, and who does the work, the situation indicates that the workers are not independent contractors but employees.Moreover, in the event that the services provided by the workers are integrated into the businesspractices or considerably influence business success, the workers serve as employees. Other factors dealing with the extent of control by the management are used in determining whether a worker is an employee or a worker.Nonetheless no single factor takes preeminence over the other factors.
In the case above, thefive hair cutters and stylists provide the services using their own tools. As per the IRS rules, this fits in the category of independent contractors. They also determine how to cut hair and when to complete a haircut. Brad does not control what is done or how it is done. He does not exercise control over the ways in which the results are achieved, another factor that affirms the workers to be independent contractors. 
Nevertheless, Brad sets the hours for the workers which shows some level of control. The work is also done in his premises,the hair styling shop. This factor does not indicate an employee relationship as the job to be done requires such a setting. As such, it is only one factor that shows Brad’s control over the workers. Considering that no single factor carries more weight than the rest, it is clear that the workers are independent contractors. Therefore, Brad is correct.
 
[bookmark: question_466028]Question 5
Explain in clear and precise detail the differences between owning real property (land) as a tenancy in common and joint tenancy. Assume that Amy and Brian have a tenancy in common while Cammy and Derrick have joint tenancy. Pretend you are an heir to Amy and Cammy; who owns the property if Amy and Cammy suddenly and unexpectedly died? This question is worth 50 points.
	Ownership interests may be different in tenancy in common where one may own a greater percentage of the property. In this case, it is possible that Amy has 75% interest while Brian has only 25%. On the other hand, joint tenancy requires equal ownership of property. In this case, Cammy and Derrick own 50% each. Tenancy in common may be obtained at any period of time which may be years after the individuals have entered such ownership. Conversely, the joint tenancy requires owners to acquire shares of the property at the same time. Tenancy in common does not offer any rights of survivorship. Unless indicated in their will, the share of a deceased owner in a tenancy in common is taken up by the estate. On the other hand, joint tenancy offers rights of survivorship. According to the rights of survivorship, upon death of one the parties in a joint tenancy, the share of the deceased gets automatically shifted to the remaining living owners. If no living owner is present, the property is transferred to the heir.
As an heir to Amy and Cammy; if Amy and Cammy suddenly and unexpectedly died, theproperty ownership shifts to me. Since both of them died at the same time, the property ownership shifts equally to their heirs. One half is transferred to Amy’s heir while the other half is transferred to Cammy’s heir. Therefore, as the heir to both owners, the entire property is transferred to me.

